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pyruvate?
(A)tyrosine (B)glycine
(C)tryptophan (D)cysteine
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B 22 & 7k X 3t (catabolism) #
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(A)alanine (B)methionine
(C)arginine (D)histidine
EAMTAMALASRETERSE > THRBEERRSDTREREB(ER
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(A)hydroxyproline (Hyp) (B)hydroxylysine (Hyl)
(C)proline (D)tyrosine

4 Neonatal jaundice (A L7 E) HURHEALTRBR PR —EE 42 T3
bilirubin diglucuronide & % & 3 4-m?

(A)UDP-glucose dehydrogenase (B)UDP-glucuronosyl transferase

(C)microsome heme oxygenase - (D)ferrochelatase
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(A)histidine (B)tyrosine

(C)proline (D)arginine

6. FFMF—ERBEALEICLMBABHHREIALRE > TELAKEY ATP?
(A)a-oxidation (B)B-oxidation

(O)lipogenesis (D)lipolysis
7.7F $17F —18 enzyme 693} §€ 3t R R 4 5% b fatty acid transport g% B ?
(A)acyl-CoA synthase (B)CPT-II

(C)carnitine acylcarnitine translocase (D)CPT-I

8.7 B RS A5 BRAH T ZI 7R — 4L A 3577

(A)camitine fX3# » T % £ lipid transport £ mitochondria
(B)chohkﬁ’e? & iR % M5 B 48 % 4% phospholipids biosynthesis
(C)ceramide = e linoleyl-CoA + serine #7 4 i &
(D)ceramide-Gle 474 iy 2 &4 glycolipids #:4% gangliosides
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9. A8 7% 75 saturated fatty acids #¢ carboxylic end E e #Rsbfr § #47 Rafai 10
(24 C18 B 145)) 7

(A)12 (B)9
(C)5 (D)4

10.Prostanoids (PGs) & ®-3 > 6 ecosanoids #& &3 #f —18 enzyme 1 F & £7 4 M R?
(A)AMPK (B)cyclooxygenase pathway
(O)lipoxygenase pathway (D)phospholipase
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1. In prokaryotic translation » where the initiation codon interacts with the anticodon of
f-Met-tRNAfmet *+  what is the sequence of the anticodon?(A) 5'-AUG-3' (B) 5'-UAC-3'
(C) 5-CAU-3' (D) 5'-GUA-3'

2. - Given the following codons: Phe (UUU: UUC): Pro(CCU: CCC: CCA-> CCG):
and Lys (AAA > AAGQG) @ identify a possible sequence of nucleotides in the DNA
template strand for a mRINA coding for the sequence Phe-Pro-Lys.

(A) AAA-CCC-UUU (B) CTT-GGG-GAA (C) AAA-ACC-TTT (D) GAA-CCC-CTT

3. The Antibiotic that inhibits protein synthesis by premature chain termination and which
structurally resembles amino acyl tRNA is -

(A) tetracycline  (B) Chloramphenicol  (C) Puromycin (D) Erythromycin

4. Attenuation of the trp operon occurs when:

(A) there is an abundance of glucose.

(B) the repressor protein binds to the operator denying RNA polymerase access to the
structural genes.

(C) a hairpin loop plus poly U sequence mimics the normal signal for termination of
transcription.

(D) there is an alteration of the availability of the promoter site for polymerase binding.

5. Which of the following mutations would have the greatest negative impact on the
protein product of a gene? '

(A) a base-pair substitution

(B) a deletion of three bases near the middle of the gene

(C) a single base insertion near the start of the coding region of the gene
(D) a single base deletion close to the end of the coding region of a gene
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11.

12.

Repression of lac operon by glucose is due to .
(A) inactivation of repressor (B) activation of CAP (C) inhibition of lactose uptake
(D) inhibition of an enzyme involved in cAMP synthesis

Facilitated diffusion differs from active transport because in facilitated diffusion

(A) the substance move with a concentration gradient (B) the substance moves against
a concentration gradient (C) a membrane protein is involved in the transport (D)
ATP 1s required

How does glucokinase differ from hexokinase? (A) Hexokinase only transfers a
phosphate from Pi to glucose, while glucokinase can use Pi. (B) Glucokinase only
transfers a phosphate from ATP to glucose, while hexokinase can use Pi.
(C)Glucokinase requires a higher concentration of glucose to achieve saturation. (D)
Glucokinase is only found in the muscle tissue, while hexokinase is found elsewhere

Fructose-2 » 6-bisphosphate is an allosteric effector of which of the following enzymes?
(A) fructose-1 » 6-bisphosphatase and phosphofiructokinase (B) triosephosphate

isomerase (C)phosphofructokinase (D)fructose-1 » 6-bisphosphatase

A second messenger is

(A) a substance that brings about a desired effect in a cell as a result of a hormone
binding to its receptor on the cell surface

(B) a hormone that acts on a target cell » not one of the releasing factors or trophic
hormones that act on specific endocrine glands

(C) a hormone that affects the DNA of the target cell

(D) a specialized form of mRNA

Skeletal muscle glycogen is not a source of blood glucose because skeletal muscle

does not contain

(A) glucose 6-phosphate dehydrogenase.

(B) glucose 6-phosphatase

(C) phosphoglucomutase.

(D) phosphorylase

A metabolic function of the pentose phosphate pathway is:

(A) to act as a source of ADP biosynthesis.

(B) to generate NADPH and pentoses for the biosynthesis of fatty acids and nucleic
acids.

(C) to participate in oxidation-reduction reactions during the formation of H,O.

(D) to provide intermediates for the citric acid cycle.
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1 FHEEFRERAM NI TRLLRGEF? (B )
2. ¥ i Watson and Crick Model & DNA 454 5472 (7 4%°)
3. 3% i DNA #8389 + 4 ey £ 2142 (5 %)
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1. B h(specific activity) 5 & @ P EEFATE N E » ¥R R EEH RATHEIERR?
(A)BE4E BRE®RFE CBEFLEMR
2. % RIEF 5 M &3] #] (competitive inhibitor) v A B Vmax {4 1%
(A)Yg X B)FRE (O
3. F 3R — B 4k A& EAE Y7 :
ABEEFRLRBZMBERTETRELN B)EXETREMME  BEEABILRER
EagEREREL OR$FH B2 4R Km /2 Vmax R (D) F3
R BEASMERIFBEZTZEREFQ
4, F 7| k4 45 2R
(A) insulin receptor % tyrosine kinase receptor > { {5 #a f 2 + (B) insulin 442 i &
R 1% iR P ARG (C) mf B T4 b growth factor By B T éafin L gy
% 2 (receptor) H:wii# W¥iE g T.&9F X484 autocrine (D) % # 2 (hormone)
42 o oo IR A% SR AEE 4 B 04 O X A% B paracrine
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1.Glutathione(GSH) & ta s 7 2 £ & peptide> a2 = A8 573 AR =5 6%)
2. % ok e 3 B R > mz 8% (sulfur-containing amino acids)? (4%)
3. 35 241359 Gos protein 4 383%(5%)




